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1. The program deals with drug , juvenile delinquency, and issues related to gang crimes.
(A) abortion (B) aggression (C) addiction (D) accountability
2. The police the road in an attempt to control the traffic flow.
(A) blocked (B) backed (C) booked (D) bailed
3. Avariety of measures are now in place in order to minimize the potential damage caused
by the deadly epidemic.
(A) press (B) preventive (C) prevalent (D) persecution
4. Keep an eye on your personal belongings and beware of :
(A) shoplifters (B) abductors (C) burglars (D) pickpockets
5. The authorities said that the number one cause of death related to fires is smoke , not
burns.
(A) hallucination (B) discrimination (C) inhalation (D) distribution
6. Select the sentence that is correctly written.
(A) Last week, the officers had self-defense training.
(B) Last week, the officers have self-defense training.
(C) Last week, the officers has self-defense training.
(D) The officers, last week, have self-defense training.
7. Criminals can also be called law breakers or :
(A) lawyers (B) offenders (C) baddies (D) mugger
8. The witnesses said that staying at a local motel.
(A) their (B) they're (C) there (D) she is

9. In 2001, Saudi Arabian terrorists led an attack on the USA in which passenger airlines were
and crashed into buildings.
(A) vandalized (B) kidnapped (C) hijacked (D) forged

10.What kind of criminal is a businessman who imports goods without paying tax?
(A) a forger (B) a smuggler (C) a deserter (D) a golfer



11.There is evidence that the police are only just beginning to come to terms with the
true extent of violent crime in this country.
(A) growth of (B) grown (C) growing (D) growing up
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Most theories of juvenile delinquency have focused on children from disadvantaged families,
___ 12 the fact that children from wealthy homes also commit crimes. The latter may commit crimes
for lack of adequate parental control. Moreover, more families consist of one parent households or two
working parents; 13, children are likely to have less supervision at home 14  was common
in the traditional family system. This lack of parental supervision is thought to be an influence on
juvenile crime rates. Other causes of offensive acts include frustration or failure in school, the increased
___ 15  of drugs and alcohol, and the growing incidence of child abuse and child neglect. All these
conditions tend to increase the 16 of a child committing a criminal act.

12.(A) ignoring (B) considering (C) highlighting (D) refusing
13.(A) simultaneously  (B) consequently (C) similarly (D) contrarily
14.(A) which (B) that (C) as (D) than
15.(A) allocation (B) knowledge (C) restriction (D) availability
16.(A) awareness (B) exposure (C) probability (D) likeness

17.Betsy had no money to buy food for her kids, so she took it from a supermarket without paying.
What was her crime?
(A) kidnapping (B) being poor (C) shoplifting (D) mugger

18.Compare the driving habits of the two groups of drivers, the researcher hopes to find out
ways to enhance road safety. The underlined section contains a language mistake. Select the
words or phrases which will correct the mistake.

(A) Comparing with  (B) In comparison  (C) As compare (D) By comparing

19.Serious has been reported after the derailment. According to the report, among all the 276
passengers aboard, 89 were killed and 187 were injured.
(A) exposure (B) casualty (C) firework (D) speculation

20.A is a person found guilty of a crime and sentenced by a court to serve a sentence in
prison.
(A) counselor (B) warden (C) convict (D) prosecutor
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21.What are the synonyms of “judge”?
(A) author (B) arbitrator
(C) employer (D) umpire
(E) referee

22.What are the synonyms of “justice”?

(A) administrative (B) sentence
(C) discussion (D) equity
(E) right



23.For criminal justice data, there is a possible between reported crime and actual crime.

(A) gap (B) differ
(C) discrepancy (D) divergence
(E) civilian
24.Arrest remains an important in controlling repeat domestic violence.
(A) distinguish (B) tool
(C) method (D) extinguish
(E) approach
25.The public police of every country are the of the peculiar social, economic, and political
history of that country.
(A) result (B) steep
(C) outcome (D) consequence

(E) hesitation

26.Cooperative structures that the exchange of information between police agencies were first
established at the beginning of the 20th century.
(A) gentle (B) flexible
(C) facilitate (D) enable
(E) promote
27.The witness said the wore a black mask and a wig during the home invasion.
(A) perpetrator (B) offender
(C) criminal (D) wrongdoer

(E) law-breaker

28.The police set up to prevent protestors approaching the city hall.
(A) roadblocks (B) barricades
(C) barriers (D) cartridges
(E) badges

29.1t is proper time the police started to illegal aliens in Taiwan.
(A) cover up for (B) crack down on
(C) stay the course (D) clamp down on

(E) cross out

30.She accused , even though he denied the charge.
(A) him of stealing her car (B) his stealing her car
(C) him that he had stolen her car (D) him with stealing her car
(E) him by stealing her car
31.All of the police officers are willing to their commander’s request as long as it stands to
reason.
(A) conform to (B) comply with
(C)actupto (D) abide by
(E) abide to
32.The gang members in Shelly’s neighborhood tried to her into selling drugs, but she
refused to be bullied.
(A) pay (B) coerce
(C) discourage (D) gender

(E) pressure



33.1tis for passengers in the front and back seats to wear seatbelts, or they will be subject to
a fine.
(A) beneficial (B) mandatory
(C) compelling (D) convertible
(E) compulsory

34.Select the sentences that are written clearly and grammatically correctly.
(A) Either the gun or the bullets was taken from the evidence locker without permission.
(B) Either the bullets or the gun was taken from the evidences locker without permission.
(C) Either the gun or the bullets were taken from the evidence locker without permission.
(D) Either the gun or the bullets were taken from the evidences locker without permission.
(E) Either the bullets or the gun was taken from the evidence locker without permission.

35.0fficer Lin absented himself from work illness. Don’t you misunderstand him.
(A) on account of (B) because
(C) because of (D) by reason of
(E) owing to
36.1t is often difficult for an officer to determine which evidence is to a case.
(A) pertinent (B) immaterial
(C) irrelevant (D) relevant

(E) obsolete

37.0ne of the drawbacks of using software is that it may install viruses or malware on a
user’s computer.
(A) pirate (B) pirated
(C) piracy (D) pirating

(E) illegal copied

38.Which sentence is in the active voice?

(A) John wrote the song. (B) The song was written by John.
(C) He drives fast. (D) John killed his friend.
(E) The article is published online.
39.When polite requests failed to serve the purpose, the demonstrators explicit threats.
(A) appealed to (B) answered to
(C) resorted to (D) turned to

(E) attended on

40.Thousands of people flooded into the city to join the demonstration; as a result, the city’s
transportation system was almost :
(A) testified (B) stabilized

(C) dissatisfied (D) paralyzed
(E) frozen



